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1. What is a Validation report 
  

 

Entities should start by using the DCT mapping tool on the website to identify the 
specific cells affected by these errors. 

For comprehensive instructions on navigating and completing the DCT, including the 
investigation and resolution of validations, the written guidance contains all the relevant 
information. Additionally, there are screenshots provided to assist you in navigating 
through the process. You can access the written guidance on our website. 
 

Validations exist on all tabs and there are specific areas you can investigate to get greater 
detail on the validation errors. 
 
Validations can be viewed on the ‘Validations Report’ worksheet on OSCAR.  
 
1. Select if you would like to view all validations – ‘Select All’ or ‘Failed Validations Only’. 
2. Select ‘Refresh’ to adjust your worksheet view according to the applied filter in Step 

1  
3. Total number of Validations will appear.  
4. Select ‘Validate’ to reflect on recent changes made. It is recommended you refresh 

the Validation report as often as possible. 
5. On the Validation Report, you will find the following details:  

a. Validation Code – automated code allocated to each validation error, for 
internal purposes.  

b. Validation Category – internal consistency, materiality, numerical accuracy  
c. Validation Type – Soft/Hard. Hard validation failures will need to be resolved 

before submission and on all soft validations, comments must be provided. 
DCT can still be validated with soft validation failures if you provide 
comments. Soft validations are warnings only and you can still proceed.  

d. Validation Description - details and guidance on each validation error for 
example: NIC contributions should be between 6% and 12% of gross 
wages. If they are not, could you please provide an explanation.  

e. Status – used to describe the status for example FAIL, please provide 
cometary/PASS. 

f. Value Returned – the value of the validation error.  
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g. Validation Message – details on why validation has failed for example 
‘values do not balance’.  

h. Used In – location of the validation error for example ‘Financial Instruments 
‘worksheet. 

i. Validation References – account codes and other internal reference codes 
concerned with specific validation error  

j. User Explanations – any comments entered on the validation errors. 
 

You must clear all hard validation errors on the validation report and provide explanations 
for soft validations before you can submit the DCT Return. The same also applies to CPID 
validations. 
 

2. Counter Party Identified (CPID) Validation errors.  
 

 
 
If there are errors on the CPID transaction tab, it will block the submission of your DCT. 

 
 
 
Please be aware of counterparty validation errors listed below which will prevent your ability 
to ‘Publish’ counterparty transaction: 

• Incomplete data fields 

• Account code does not exist. 

• Instigating Entity does not exist. 

• Counter Party does not exist. 

• Entity CPID was entered in lowercase (e.g., "afs902") instead of uppercase 
("AFS902"). 
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• The column CPID Amount £000 contains a decimal place. Please remove the 
decimal place 

• This SCOA must be 100% Allocated. 

• The amount allocated to counterparties must not exceed the amount on the Trial 
balance (TB). 

• The CPID amount must have the same signage as the TB. 

• If the TB amount is zero, there should be no CPID amount. 

• Please delete the Instigator or CPID from the row 

• Please delete the Instigator/CPID as there is no CPID value. 

• Invalid CPID Entity in column Counter Party Code 

• Invalid Instigator Entity. The counter party is in your group. 

• Your chosen CPID is within your Instigator group. 

• Incomplete CPID entities provided. 

• The Counterparty code has been entered more than once for the same SCOA. 
Please aggregate the amounts and report as one line entry. 

Please ensure these issues are resolved to allow you to ‘Publish’ your counterparty 
transactions. 

In the context of the Whole of Government Accounts the terms "instigator" and "counterparty" are 
used to describe the parties involved in transactions between different government entities. 
 

• Instigator: This is the entity that initiates a transaction. In the WGA, this would typically be 
the government department or public sector body that is responsible for starting a financial 
transaction or event, such as making a payment or transferring an asset. 
 

• Counterparty: This is the entity on the other side of the transaction. In the WGA, the 
counterparty is the government department or public sector body that is involved in the 
transaction initiated by the instigator, such as receiving a payment or asset. 

 

3. How to resolve validation errors 
  

To address the entity's validation issues, it is necessary to investigate the reasons for the 
errors and rectify any inaccuracies on the DCT. The errors stem from inaccuracies in the 
entity's DCT entries. To resolve the validation errors, the entity must understand the root 
causes of the errors. 

The first step is to generate a validation report. This report will provide the validation 
codes that are triggering the errors, show the affected tabs, and explain the reasons for 
the errors. On the right side of the report, you'll find descriptions guiding you on how to 
address each validation issue. It is crucial to carefully review and act upon the comments 
in the status column corresponding to each validation code. 
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4. DCT Mapping tool 
 

Consulting the DCT Mapping Tool 

The DCT Mapping Tool will provide guidance on how to navigate the DCT. Additionally, 
the validation report on the validation page explains each validation error, what tab the 
error is on and indicates which tab it refers to. 

How to Use the DCT Mapping Tool: 

1. Search for the Validation Error Number: a. Locate the validation error number on 
the DCT Mapping tool. 

2. Consult the DCT Mapping tool Screenshot: The screenshot from the DCT 
Mapping tool provides the following key information: 

o The validation error number 
o The SCOA (Standard Chart of Accounts) 
o The expected value 
o The validation description 
o The affected tab 

 

 
 
 
 
 



OSCAR WGA – Annex – Examples Resolving Validation errors 
 

8 
 

 
 

Whole of Government Accounts - GOV.UK alongside videos, webinars, and other 
materials to help with this. 

5. Hard validations 
  
For hard validations, start by investigating the cause of the error. Use the find command 
to search for the validation error codes on the DCT Mapping Tool. This will take you to 
the relevant cells for that code and provide you with the necessary information on what 
to do next. 
 

 
 

6. Soft validations 
  
For soft validations, you’ll need to provide an explanation in the relevant cells.  
You need to provide an explanation in the User explanation column.  
 
The validations do not disappear once you have commented. Once you validate the 
comments, the system will allow the DCT to progress. 

https://www.gov.uk/government/collections/whole-of-government-accounts
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7. Examples of Validation Errors and Guidance on How to Resolve Them 

a. How to resolve Validation 899I0011 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 
 
To fix the errors, the entity must make sure the values in the two specified cells below are 
identical. 
 
Please go to the row labelled ‘(Surplus) or Deficit on Provision of Services’ within the 
‘Reserves’ tab. 

 
 
Then go to the ‘CI&E’ tab: 
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The two cells needs to agree. Please investigate and resolve. 

b. How to resolve Validation 899I0012 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 
 
Validation report 
 

 
 
The difference of -32,090 shown on the validation report (screenshot 1) is made up of 
the difference between the Reserves and Pensions tab as highlighted below. 
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The yellow cells on the Reserves (screenshot 2) tab must equal the yellow cells on the 
Pensions tab (Screenshot 3). 
 
Reserves tab 
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Pensions tab 
 

 
 
Please investigate and resolve. 

c. How to resolve Validation 899N0033 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 
 
Below is a sample of the PPE tab. Ensure that all closing balances align with the 
opening balance. The cells in the green boxes need to agree. Use this principle to 
examine and rectify red box on all affected individual tabs.  
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Please investigate and resolve. 

d. How to resolve Validation 899N0034 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 
 
Below is a sample of the PPE tab. Ensure that all closing balances align with the 
opening balance.  
 
The cells in the green boxes need to agree. Use this principle to examine and rectify red 
box on all affected individual tabs.  
 

 
 
Please investigate and resolve. 

e. How to resolve Validation 899N0035 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 
 
Below is a sample of the PPE Depreciation table. Total of the breakdown by the asset 
type must equal the NBV of each asset type. Asset financing breakdown must equal 
NBV of asset. 
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The cells in the green boxes need to agree. Use this principle to examine and rectify red 
box on all affected individual tabs.  
 

 
 
Please investigate and resolve. 

f. How to resolve Validation 899N0038 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 
 
Below is a sample of the IFA tab. Ensure that all closing balances align with the opening 
balance.  
 
The cells in the green boxes need to agree. Use this principle to examine and rectify red 
box on all affected individual tabs.  
 

 
 
Please investigate and resolve. 
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g. How to resolve Validation 899N0039 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 
 
Below is a sample of the IFA Amortisation table. Ensure that all closing balances align 
with the opening balance.  
 
The cells in the green boxes need to agree. Use this principle to examine and rectify red 
box on all affected individual tabs.  
 

 
 
Please investigate and resolve. 

a. How to resolve Validation 899N0055 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 
 
General fund restated opening balance must equal the balance at the 1st of April. 
Restated balances must equal the balance as at 1 April. 
 
The cells in the green boxes need to agree. 
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Please investigate and resolve. 

h. How to resolve Validation 899N0066 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 
 
The impairment split between recognised in I&E and reval reserve must equal the sum 
of the net impairments recognised in the PP&E movement table. This validation is made 
up of the following numbers in your DCT: 
 

• NCS II&E-Impairment: 866 
 

Equals  
 

• PPE tab: Net Impairments to the I&E: -852 
• Intangibles-Net impairments top the I&E: 0 
• Current Assets and AHFS: Impairments of assets Held for Sale: 3 

 
The amounts entered for the I&E don’t agree to what’s in PPE, Intangibles or Current 
assets and AHFS.  
 
I&E NCS subjective analysis: 
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PPE tab: 
 

 
 
Intangibles: 
 

 
 
AHFS 
 

 
 
Please investigate and resolve. 

i. How to resolve Validation 899N0111  

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 



OSCAR WGA – Annex – Examples Resolving Validation errors 
 

18 
 

 
 

Please investigate and resolve any hard validations on the Validation report. Once 
all hard validations are cleared, the validation 899N0111 should also clear. 

An alternative method to investigate this validation error is to run an Audit report 
as described in ‘How to Resolve Validation 900V0052’ and address the unbalanced 
items in your Trial balance. 

If the error is connected to the prior year figure, you’ll need to navigate to the 
Restatement Analysis tab and update your prior year balance to address the issue. 

j. How to resolve Validation 899N0104 

Please follow the instructions on the validation report to resolve the issue.  
 
The following is an illustrative example and does not represent actual data from your 
entity. 

Total on 'Expected timing of discounted cash flows' table must equal the total provision 
balance in the movement table. Please go to the “Liab & Provs” tab and correct so that 
the breakdown of provisions by expected timing equal the total provisions on the 
movement table. All the three red boxes below need to agree.  
 

If you complete the green box, they will.   
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Please investigate and resolve. 

k. How to resolve Validation 899L0117 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 

In the step 2 table, make sure for each line that the total classed as internal, matches 
back to the total you have allocated on the CPID transactions sheet for the SCOA 
shown. 

 

Step 2 does not match the CPID transaction tab. 

The figures do not match; one figure is 20,307, and the other is 25,307. 

Inv, JVs& Association tab 
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  CPID transaction tab

 

Please investigate and resolve. 

l. How to resolve Validation 899L0121 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 

There are unanswered questions in sheet ‘Additional Data' tab. Go to the “Additional 
data” tab and complete the mandatory questions. All mandatory questions must be 
answered.  

This is for the first three questions of the 'Contingent Assets/Liabilities' section, and all 
rows of the 'Post balance Sheet events' section. Please complete the red boxes below to 
resolve. 
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Please investigate and resolve. 

m. How to resolve Validation 899N0125 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 
 
In the step 2 table, make sure for each line that the total classed as internal, matches 
back to the total you have allocated on the CPID transactions sheet for the SCOA shown. 

Other Financial Liabilities tab 
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CPID transaction tab 

 

 

The entity has not listed an internal balance against 23592000 on the Other Fin Liab tab 
but have assigned a CPID amount against this. The two values need to match, otherwise 
the validation will fail. 

Please investigate and resolve. 

n. How to resolve Validation 899N0130  

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 
 
All mandatory questions must be answered. 
 

 



OSCAR WGA – Annex – Examples Resolving Validation errors 
 

23 
 

Please investigate and resolve. 

o. How to resolve Validation 900V0026 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 

No cash movement during year. Please complete the additional cashflow boxes above 
to remove the error.  

On the IFA (Intangible Fixed Assets) tab, the entity has not completed the additional 
section.  

Please complete to resolve the error. 

 

b. How to resolve Validation 900V0031, 900V0032 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 
 
Must equal other payables above. There is a table at the bottom of the ‘payables’ that 
breaks out the ‘other payables’ number in the main payables table. The entity will need 
to provide a breakdown in the table at the bottom of the payables tab to get this 
validation to clear.   
 
Go to the CP-T&OP affected by the error and look at where the SCOA codes should be 
going 
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You need to investigate why your total payable at the top of the page does not match 
the analysis below. Screen shots of Current Trade and other payables and the 
breakdown is below for your DCT is below.  
 
Current Trade and other payables 
 

 
 

 
 
You can see from above the total and the breakdown does not match. Please correct to 
resolve. 
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Non - Current Trade and other payables 
 
In this case the entities total does not match the breakdown for Non - Current Trade 
and other payables 
 

 
 
 
The breakdown for the non-Current other payables figures is showing £-25,178 
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You can see from above the total and the breakdown does not match. Please correct to 
resolve. 

p. How to resolve Validation 900V0033 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 

No cash movement during year. Please complete the additional cashflow boxes above 
to remover the error. 

On the Other Financial Assets tab, the entity has not completed the additional section.  

 

Please complete to resolve the error. 

c. How to resolve Validation 900V0034 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 

No cash movement during year. Please complete the additional cashflow boxes above 
to remove this warning 

On the Other Financial Liabilities tab, the entity has not completed the additional 
section. See the screenshot below. 

Please complete to resolve the error. 
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d. How to resolve Validation 900V0042 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 
 
Below is a sample of the Provision tab. Ensure that all closing balances align with the 
opening balance.  
 

 
 
The cells in the green boxes need to agree. Use this method to examine and rectify red 
box on all affected individual tabs.  
 

Please investigate and resolve. 

e. How to resolve Validation 900V0052 

Please follow the instructions on the validation report to resolve the issue.  
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The following is an illustrative example and does not represent actual data from your 
entity. 
 
Balance check. Please ensure that the value balance. 
 
 
Please run an audit report on your current DCT. Details can be found in the written 
guidance on our website. 
  
On the ‘Variance Analysis_4’ tab, total your 1-6 series SCOA codes and ensure they 
amount to zero, as shown in the example below. If they do not, it indicates that your 
trial balance is out; please investigate and resolve this issue accordingly. The entity is 
responsible for investigating and resolving its own errors. 
 

 
 
Please investigate and resolve. 

f. How to resolve Validation 900V0061  

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 
 
So, the validation we’re looking at here is 900V0061 
 
If you go on the LP validation tab, and filter for this validation you get the following: 
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So instead of SCOA codes it shows Row and Column codes in columns E and F. 
 
You can easily find these references by using the search function in Excel, or if you 
navigate to the PPE and E tab you can see these orange-y peach bits around the edge. 
 

 
 
So, you can see here PIP_Row 16/PIP_Col004 is SCOA 11214000 
 
The other bit worth remembering is how to read the validation list itself: 
 
So, what is being compared is in column E&F, but what it is comparing it to is in columns 
N&O? 
 
So, looking at our example: 
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What the validation is asking you to do is compare rows 16+17+29+30 to Row 38 

Please investigate and resolve. 
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g. How to resolve Validation 900V0082 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 
 
ERROR: does not equal other debtors above. The two yellow cells need to be the same. 
 

 
 

Please investigate and resolve. 

h. How to resolve Validation 900V0083 

Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 
 
ERROR: does not equal other debtors above. The two yellow cells need to be the same. 
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To resolve this error, please break down the “Other long-term debtors (including 
transferred debt) - please analyse in table below” entry as below. 

Please correct to resolve. 

 
 

Please investigate and resolve. 

i. How to resolve Validation 900V0131  
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Please follow the instructions on the validation report to resolve the issue.  

The following is an illustrative example and does not represent actual data from your 
entity. 

 
Please run an audit report on your current DCT. Details can be found in the written 
guidance on our website. 
  
On the ‘Variance Analysis_4’ tab, total your 1-6 series SCOA codes and ensure they 
amount to zero, as shown in the example below. If they do not, it indicates that your 
trial balance is out; please investigate and resolve this issue accordingly. The entity is 
responsible for investigating and resolving its own errors. 

 
 

___________________________________________________________________________ 
 

 

8. Trial Balance Input Method 
 
 

Please follow steps below 
• How to select the Entity for DCT Input 

• How to map your codes against OSCAR codes 

• Steps to Input your Trial Balance  

• How to review Trial Balance Posted Amounts 



OSCAR WGA – Annex – Examples Resolving Validation errors 
 

34 
 

• List of Available SCOAs 
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OSCAR WGA – Annex – Examples Resolving Validation errors 
 

36 
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Q: Our account codes do not map easily to the SCOAs, so the TB method is not 
possible 
 
A: You can map your entity’s codes to Oscar II via the audit report (TB tab). Entities 
only need to go through the mapping exercise once. You can reuse the mapping to 
Oscar II SCOAs for many years after, as WGA SCOA code are not changed annually.  
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9. Restatement CI&E - Prior Year Comprehensive Income and Expenditure 
Statement - Restated 

 
a) The restatements for prior year comprehensive income and expenditure that have 

been restated in the Restatement Analysis tab will be auto-populated in the Middle 
column on this tab, with the ability to enter adjustments in the first columns 
according to the income or expenditure type (such as staff costs, or grants and 
subsidies), and according to the reason for the adjustment (such as accounting 
policy changes, or changes to your authority’s structure). 
 

b) There is a spreadsheet view option on this tab to select from the two data input 
methods: Input and Copy/Paste. 
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10. Restatement Analysis 
 
The Restatement tab is a new method and a singular tab for restatements which 
auto-populates the relevant proforma tabs.  
 
Any entity who has made a prior period adjustment must complete this tab, 
detailing transactions at SCOA level, which affect their statements.  

 
 

 
 
 
 
 

Please select the name of the affected tabs from the Primary Statement from the 
drop-down list. Click “Update Note Drop Down” to filter the Note column based 
on the primary statement you have selected and select a Note from the Note drop 
down list. 
 
After that select the Restatement Reason from the drop down and leave a 
comment or description, without which the restatement won’t be validated. Enter 
Counter Party Code from the dropdown if required 
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Then enter the debits and credits into the schedule.  
 
Once the readjustments are entered, click on ‘Validate Restatement’ button, 
and correct primarily the hard validation errors which will be highlighted in 
red. Soft Validations highlighted in yellow can be commented. Restatements 
highlighted in Green needs no resolution. Once these validations are resolved, 
select ‘Refresh Re-statements’ to update inputs with restatement data. 
 
Note - Positive numbers to be entered as is and negative numbers should be 
entered with a minus (-) sign before them and users should ensure that the 
Schedule balances, i.e., debits and credits should net to zero. 

 

 
 
 

To change or delete a re-statement that has been validated, a reverse re-
statement needs to be added. Note: Please do not amend or delete the re-
statement, and instead add a reverse re-statement. 
 
To add a reverse re-statement, select the Primary Statement and Note details 
like the re-statement that needs to be reversed and then reverse the debit or 
credit amounts. For e.g., in the below screenshot, Re-statement line 4 has been 
reversed in Restatement line 5 and the amount that was debited in Line 4 has 
been credited back in Line 5.  
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11. How to resolve Validation 900V0152 
Please follow the instructions on the validation report to resolve the issue.  
ERROR Check exit costs are not too high for £100,000+ column (local 
government).  
 
Please investigate and resolve. 

12. How to resolve Validation 900V0153 
Please follow the instructions on the validation report to resolve the issue.  
ERROR Check exit costs are not too low for £40,000 - £60,000 column (local 
government) 
 
Please investigate and resolve. 

13. How to resolve Validation 900V0154 
Please follow the instructions on the validation report to resolve the issue.  
ERROR - Check exit costs are not too low for £60,000 - £100,000 column (local 
government) 
 
Please investigate and resolve. 

14. How to resolve Validation 900V0155 
Please follow the instructions on the validation report to resolve the issue.  
ERROR - Check exit costs are not too high for < £10,000 column (central 
government) 
 
Please investigate and resolve. 

15. How to resolve Validation 900V0156 
Please follow the instructions on the validation report to resolve the issue.  
ERROR - Check exit costs are not too high for £10,000 - £50,000 column 
(central government) 
 
Please investigate and resolve. 
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16. How to resolve Validation 900V0157 
Please follow the instructions on the validation report to resolve the issue.  
ERROR - Check exit costs are not too high for £50,000 - £100,000 column 
(central government) 
 
Please investigate and resolve. 

17. How to resolve Validation 900V0158 
Please follow the instructions on the validation report to resolve the issue.  
ERROR - Check exit costs are not too high for > £100,000 column (central 
government) 
 
Please investigate and resolve. 

18. How to resolve Validation 900V0159 
Please follow the instructions on the validation report to resolve the issue.  
ERROR - Check exit costs are not too low for £10,000 - £50,000 column 
(central government) 
 
Please investigate and resolve. 

19. How to resolve Validation 900V0160 
Please follow the instructions on the validation report to resolve the issue.  
ERROR - Check exit costs are not too low for £50,000 - £100,000 column 
(central government) 
 
Please investigate and resolve. 

20. How to resolve Validation 900V0161 
Please follow the instructions on the validation report to resolve the issue.  
ERROR - Check exit costs are not too low for > £100,000 column (central 
government) 
 
Please investigate and resolve. 

21. How to resolve Validation 900V0148, 900V0151 
Capital commitment 
 
The validation codes are: 
 
LG: 900V0148 
CG: 900V0151 
 
Check your entries for Capital Commitment. Non-zero total should pass 
validation. A zero total with no "Y" will fail validation and show in the validation 
report. 
 
By adding the "Y" in the extra line below "other financial commitments" and 
rerunning the validation report should now pass.  
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Please investigate and resolve. 

 
 

22. How to resolve Validation 900V0149, 900V0150 
This validation ensures that 16592100 Loans in Step 1 equals the total of loans 
entered in Step 2 (81651901 + 81651903). 
 
If this equality is not met, the validation will fail. 
 
If the equality holds, the validation will pass. 

 
Please investigate and resolve. 

 
Step 1 

 
 
 
Step 2 
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Please investigate and resolve. 
 


